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Note : This paper is of seventy (70) marks containing 

three (3) sections. Learners are required to attempt 

the questions contained in these sections according 

to the detailed instructions given therein. 

uksV % ;g iz’u i= lŸkj ¼70½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu [k.Mksa esa fn, x, 

foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain the shapes of AFC, AVC, AC and MC curves 

and also discuss their inter-relationship. 
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AFC, AVC, AC rFkk MC oØksa ds vkdkjksa dk fo’ys”k.k 

dhft, rFkk buds vUrlZEcU/kksa ij ppkZ dhft,A 

2. What are the equilibrium of the firm and the 

equilibrium of the industry ? Discuss how a firm 

attains equilibrium under perfect competition in the 

short and in the long period. 

QeZ ds lkE; ,oa m|ksx ds lkE; ls D;k vfHkizk; gS \ vYi 

,oa nh?kZdky esa iw.kZ izfr;ksfxrk ds v/khu QeZ fdl izdkj 

larqyu dks izkIr djrh gS \ le>kb,A 

3. Explain Euler’s theorem. How does it explain the 

product exhaustion or adding up problem ? 

;wyj ds izes; dh O;k[;k dhft,A ;g fdl izdkj mRikn 

fofu”Vhdj.k ;k ;ksx dh leL;k dh foospuk dj jgk gS \ 

4. Elucidate the risk and uncertainty theory of profit. 

ykHk ds tksf[ke ,oa vfuf’prrk fl)kUr dk o.kZu dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer six (06) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy N% ¼06½ iz’uksa ds mŸkj nsus 

gSaA  

1. Illustrate diagrammatically that price effect is a 

combined result of income effect and substitution 

effect. 
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fp=ksa dh lgk;rk ls le>kb, fd fdl izdkj dher izHkko 

vk; ,oa izfrLFkkiu izHkko dk ;ksx gSA 

2. Explain Revealed Preference theory as propounded by 

Samuelson. 

lSE;qYlu }kjk izLrqr izdV vf/keku fl)kUr dh O;k[;k 

dhft,A 

3. Explain the Cobb-Douglas production function. 

dkWc&MXyl mRiknu Qyu dh O;k[;k dhft,A 

4. Distinguish between Economies of scale and 

Economies of scope. 

iSekus dh ferO;;rkvksas ,oa {ks= dh ferO;;rkvksa esa vUrj 

Li”V dhft,A 

5. Long-run equilibrium and group equilibrium under 

monopolistic competition. 

,dkf/kdkjkRed izfr;ksfxrk esa nh?kZdkyhu larqyu ,oa lewg 

larqyuA 

6. Differential rent. 

foHksnhd`r yxkuA 

7. Conditions of Pareto efficiency. 

iSjsVks leFkZrk dh n’kk,¡A 

8. Collective Bargaining. 

lkewfgd lkSnsckthA 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct alternative : 

lgh fodYi dk p;u dhft, % 

1. Rectangular hyperbola is the shape of : 

(a) TFC 

(b) AFC 

(c) FC 

(d) MFC 

fuEufyf[kr esa ls fdldk vkdkj vk;rkdkj ijoy; dk  

gS \ 

¼v½ TFC 

¼c½ AFC 

¼l½ FC 

¼n½ MFC 
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2. The average profit is equal to the difference 

between  : 

(a) AC and TC 

(b) AC and YC 

(c) AC and AR 

(d) AC and TR 

fuEufyf[kr ds e/; vUrj ds cjkcj gksrk gS vkSlr  

ykHk % 

¼v½ AC vkSj TC 

¼c½ AC vkSj YC 

¼l½ AC vkSj AR 

¼n½ AC vkSj TR 

3. Profits originates in : 

(a) Uncertainty 

(b) High prices 

(c) High greed 

(d) Exploitation 

ykHk fufgr jgrk gS % 

¼v½ vfuf’prrk ls 

¼c½ mPp dherksa ls 

¼l½ ykyp ls  

¼n½ ‘kks”k.k ls 
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4. The advertisement cost is included in : 

(a) Fixed Costs 

(b) Sometimes in fixed cost and sometimes in 

variable cost 

(c) Always in variable cost 

(d) Never included in variable costs 

foKkiu ykxrksa dk lekos’k gS % 

¼v½ fLFkj ykxrsa 

¼c½ dHkh fLFkj rks dHkh ifjorhZ ykxrksa esa 

¼l½ ges’kk ifjorhZ ykxrksa esa 

¼n½ ifjorhZ ykxrksa esa dHkh ‘kkfey ugha jgrh 

5. Automobile industry is an example of : 

(a) Perfectly competitive model 

(b) Imperfectly competitive model 

(c) Monopoly model 

(d) Oligopoly model 

okgu m|ksx mnkgj.k gS % 

¼v½ iw.kZr;k izfrLi)kZ ekWMy dk 

¼c½ viw.kZ;qDr izfrLi)kZ ekWMy dk 

¼l½ ,dkf/kdkj ekWMy dk 

¼n½ vYikf/kdkj ekWMy dk 
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6. The theory of monopolistic competition is developed 

by : 

(a) E. H. Chamberlain 

(b) Cournot 

(c) Smt. Joan Robinson 

(d) None of the above 

,dkf/kdkjkRed izfrLi)kZ ds fl)kUr dks fodflr fd;k % 

¼v½ bZ- ,p- psEcjfyu us 

¼c½ dwuksZ us 

¼l½ Jherh tkWu jksfcUlu us 

¼n½ mi;qZDr esa ls dksbZ ugha 

7. According to Modern theory, rent arises on : 

(a) Labour only  

(b) Land only 

(c) Capital only 

(d) All factors 

vk/kqfud fl)kUr ds vuqlkj] yxku izkIr gksrk gS % 

¼v½ dsoy Je ls  

¼c½ dsoy Hkwfe ls 

¼l½ dsoy iw¡th ls 

¼n½ lHkh lk/kukssa ls 

8. Secondary cost is one of the determinant of : 

(a) Rent 

(b) Interest 

(c) Quasi-Rent 

(d) None of these 
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f}rh;d ykxr fuEufyf[kr esa ls fdldh ,d fu/kkZjd gS \ 

¼v½ yxku 

¼c½ C;kt 

¼l½ v)Z&yxku 

¼n½ buesa ls dksbZ ugha 

9. ‘Refrigerator Industry’ is an example of  : 

(a) Monopolistic competition 

(b) Perfect competition 

(c) Oligopoly 

(d) Oligopolistic competition 

^jsfÝtjsVj m|ksx* ,d mnkgj.k gS % 

¼v½ ,dkf/kdkjkRed izfr;ksfxrk dk 

¼c½ iw.kZ izfr;ksfxrk dk 

¼l½ vYikf/kdkj dk 

¼n½ vYikf/kdkjkRed izfr;ksfxrk dk 

10. If the MRTSLK equals 2, then the MPK/MPL is : 

(a) 2 

(b) 1 

(c) 1/2 

(d) 4 

;fn MRTSLK cjkcj gks 2 ds] rc MPK/MPL gksrk gS % 

¼v½ 2 

¼c½ 1 

¼l½ 1@2 

¼n½ 4 
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